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Examination, Mar.-April, 2023
Paper - |
Business Statistics
Time : Three Hours] [Maximum Marks : 75
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Note : Answer all questions. All questions carry equal
marks.
T8 / Unit-1

1. wifers! st Ry ST 9 g6 F YR
%1 foaaq Hifsu)

Define Statistics and discuss the types of data.
HYET / OR

frafafas sifeel @ R Wiew, wuge
qYl ag I HIfT
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(2)
AFJFH [10]20]30]40]50]|60|70(80[90]100
A s EEn | 38 |15(25|37]52]64|70]72] 80

Calculate arithmetic mean, median and mode

from the following data :

Marks less than| 10{20 | 30{40 {50 {60|70(80|90[100
No.of Students | 3 | 8 | 15(25|37|52|64|70]72| 80
T&TE / Unit-II
2. 7= swSl @ 0, 0, D, W Py, W

Hif
| smfa
2-4 1
4-6 5
6-8 2
8-10 7
10-12 8
12-14 6
14-16 7
16-18 3
18-20 5
388 RIG_(7)
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(3)

Calculate Q,, Q3 Ds and Pg, from the

following data :

Class | Frequency

2-4 1

4-6 -,

6-8 2

8-10 7

10-12 8

12-14 6

14-16 7

16-18 | . 3

18-20 5

HYar / OR

frafafed oiwel @ % qgdd &1 fouaa
NICSIG HITAT :
Tegd ¥ S| 5 | 15]25(35|45| 55|65
ToTGl Y |&AT|100| 80| 75| 60 | 55| 20| 0
Calculate Karl Pearson’s coefficient of
skewness from the following data :
Wages above | 5 | 15]25]35|45 55|65
No. of Workers [100| 80| 75| 60|55 |20( 0
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T&T8 / Unit-I1I BhTS / Unit-IV
3. Tmafafes wdsl ¥ H19 gedsy s 4. fr=1 kel @ fRwr =1 enew Frdwis sy
TREFEH I : SR ymfra s fF o7 w9 o ¥
% Tfora # |20 25(40|25(30]6040(25 - ke S AT
37 A@RH 9 35(35/60 | 65| 25]60(35(20 2018 | 2022 | 2018 | 2022
Calculate Rank Correlation Coefficient from 4 2l 18 . *
the following data : B 12 36 10 16
- 42 12 8
Marks in Maths|20 | 25|40 25| 30| 60| 40[25 ¢ y s
Marks in 1 D 50 80 30
Accountancy |35|35]|60| 65|25|60]|35|20 Prepare Fisher’s Ideal Index No. from the
following data and verify that it is time
37eqar / OR reversal :
. 5 % i ti
= gftel & fau <91 i @l 3w Itemn Price N%_M% _ME
FTC y F sT@fys dwifead w9 T g 2018 | 2022
Wafeh x=150 @ : A 10 18 5 4
B 12 36 10 16
x | 147|148|135[151|136(148(157 110|162 C 3 42 12 8
y | 191|288|410|482|513 506|468 |477|541 D | 50 80 30 | 15
Find the lines of regression for two series HY4ar / OR
given below. What is the most likely value of "
y when x=150: ﬁﬂgmﬁqw.w%wawwu_m_ru_ e

-39 ¥ 8?2
What is time series ? What are the various
components of a time series 2.

x | 147|148|135| 151|136 148157110162
y | 191|288(410|482|513 506|468 |477|541
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(6)

(a)

(b)

(6)

TEE / Unit-V

T A A 3 whe, 6 N, 4 7 sk
2 Wit 1R ¥ Al afew sy Y
e el s @ sey w1 @ A
TR T W BN W w g 20

A bag contains § white, 6 black, 4 green
and 2 yellow balls. If a ball is drawn at

random, what is the probability of its

being of black or green or yellow
colour ? =

Qﬂﬂnﬂﬂﬂﬁﬁﬂﬂﬁ&ﬂﬂé

Explain the importance of probability
theory.

HUGT 7 OR

T HIHURT 9 H TG F ¥ uH e
Tl AYEl 9eEE e # sy
PURET I I,

What is the probability of drawing a
black card or a king from a pack of
ordinary playing cards ?

frefefas vl & ey ¥ ey Ta=mg
T A FHy 2

(i) DEED

(i) BANANA

388_RIG (7)
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(7)

How many different arrangements can be
: 2
formed out of the following words ?

(i) DEED
(i) BANANA
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